Chapter 6 :- Rounding Off — Estimation
EX-6A

1.Find the half way number between :-
a) 18000 and 19000 = 18,500

c) 4 00 000 and 5 00 000 =4 ,50 ,000

f) 90000 and 1 00 000 = 95, 000 .

2. Round off to nearest tens :-
a) 316 =320

€)1242 = 1240

e)1003 = 1000

f)9992 = 9990

h)106921 = 106920

3.Round off to nearest hundreds:-
a)269 = 300 d)26178 = 26200 f) 10040 = 10000
h)99978 = 100000

4.Round off to nearest thousands :-
a)1840 = 2000 c) 28 706 = 29 000 e) 49 875 = 50 000
h)399899=400000 i)200673=201000



5. Round off to nearest ten thousands :-

a)24,784 = 20,000 c) 55,555 = 60,000 e) 7,28,173 = 7,30,000

h) 43,00,888 = 43,00,000 i) 59,82,696 = 59,80,000.

6.Round off to nearest lakh:-

a) 5,72,682 = 6,00,000 ¢)9,82,468 = 10,00,000
e)15,49,300=15,00,000 h)49,70,999 = 50,00,000

7.Round off to nearest crore :-
a)14,25,56,800 = 14,00,00,000
¢)2,92,50,000 = 3,00,00,000

e) 69,74,25,009 = 70,00,00,000

8.Approximate to i) tens and ii) hundreds :-
a) 546 — i) 550 ii) 500

c)937 —-1i)940 ii) 900

e) 53712 -i)53,710 ii)53,700

g) 4939 —i)4940 ii)4900

i) 2,99,999 - i) 3,00,000 ii) 3,00,000.
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